Comprehension-2
Passage

Directions (Q1 to 10): A passage is given below in which blanks have been numbered. Against each number, five alternatives choices are given below. In the context of the whole passage, select the best word in each case to fit each of the blanks to complete the passage correctly and meaningfully.
Having made a (1) of his first (2) he decided that his second
wife must be chosen scientifically. First he made a list of the
women he considered (3), then he wrote on one side their (4)
qualities and on the other side their (5) qualities. Mathematically
he chose the lady with the most (6) qualities. But his second
marriage was a worse failure than the first. But (7) once did he think of listing his own bad (8). (9) marriage might have been a success if he had looked into his own heart for the (10).

1. (a) failure (b) regret (c) mistake (d) success (e) fault

2. (a) wife (b) engagement (c) proposal (d) date (e) marriage

3. (a) mature (b) eligible (c) unmarried (d) successful (e) intelligent

4. (a) various (b) common (c) bad (d) good (e) different

5. (a) main (b) physical (c) mental (d) rare (e) bad

6. (a) common (b) better (c) good (d) higher (e) bad

7. (a) often (b) why (c) never (d) again (e) then

8. (a) upbringing (b) education (c) tempers (d) qualities
    (e) decisions

9. (a) both (b) either (c) neither (d) second (e) first

10. (a) remedies (b) sins (c) troubles (d) education (e) purpose

Answers

	1
	C

	2
	E

	3
	B

	4
	D

	5
	E

	6
	C

	7
	C

	8
	D

	9
	B

	10
	E


